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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Find an equation for the tangent to the curve at the given point.
1) h(x) = 2 - 9t- 4, (3, -4) 1)

Find the second derivative.
2)

2)y=3x3-5x2+8



Solve the problem.
3) Find the points where the graph of the function have horizontal tangents.

f(x) = x° - 21x

Calculate the derivative of the function. Then find the value of the derivative as specified.

4) f(x) = sz;f’(ﬂ)




Use the formula f'(x) = Iim M to find the derivative of the function.

g ETX
4
0) Hx) = x + 4
Solve the problem.

6) A ball dropped from the top of a building has a height of s =576 - 16t2 meters after t
seconds. How long does it take the ball to reach the ground? What is the ball's velocity at

the moment of impact?

J)

6)




Find the derivative.

7) y = (csc x + cot x)(csc x - cot X) 7)
Find the indicated derivative.
8) Find y " if y = 2x sin x. 8)

Solve the problem.
9) The driver of a car traveling at 30 ft/sec suddenly applies the brakes. The position of the car  9)

iss = 30t - 3t2, t seconds after the driver applies the brakes. How many seconds after the
driver applies the brakes does the car come to a stop?



Find the derivative.

10) s = t3 tan t - A/t 10)

The function s = f(t) gives the position of a body moving on a coordinate line, with s in meters and t in seconds.

11)s=5t2 +4t+6,0<t <2 11)
Find the body's speed and acceleration at the end of the time interval.
Find the derivative.
12)

12) y = 2)(26_)(




Solve the problem.
13) A rock is thrown verticall

of s = 120t - 3t2 meters in t seconds. How high does the rock go? How long does it take the

rock to reach its highest point?

y upward from the surface of an airless planet. It reaches a height ~ 13)

Find the derivative.

14)r=2-El4 cos 0 14)

Find the derivative of the function.

15) f(t) = (6 - 1)(6 + 3y

[} [



Findy'.
16) y = (x2 - 2X + 2)(4x3 - X2 + 4) 16)

The equation gives the position s = f(t) of a body moving on a coordinate line (s in meters, t in seconds).

17) s =8 sint - cos t 17)

Find the body's velocity at time t = /4 sec.

Provide an appropriate response.
10x

X< + 1

18) Find an equation for the tangent to the curve y = at the point (1, 5). 18)



Find the derivative.
19) s =10 -csct+13

Solve the problem.
20) Find an equation of the tangent to the curve f(x) = \f x + 2 that has slope

Find the derivative.

10 1
+

sin X cot x

21) y =

1

————
L
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19)

20)

21)



Answer Key
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1) y=18t- 58
2) 18x - 10

3) (7, 14n]7), (\J7, -14:[7)

4) f'(x) = - - 8-—1fﬂD=-2

(X + 2)2

-+
(X + 4)2
6) 6 sec, =192 m/sec
7)y'=0
8) y"' ==2XC0sX =6 sin X
9) 5 sec

10)$—=95e@t+3t2tant—

D) -

1
24t
11) 24 m/sec, 10 m/sec?

12) 2xe™*(2 - x)
13) 1200 m, 20 sec

dr
_—_—— . - 3 4 1
14) 15 46° cos O + 6% sin O

23 -18t2 - 6
(6 + 13)
16) 20x4 - 36x3 + 30x2 + 4x - 8

17) 9‘5/5

18) y =5
\ ds
dt

15) f ' (t)

m/sec

= 8t7 + csctceott

3
20)y=%x+—2—

21)y'=—10cscxc0tx+sec2x
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